TEHBERRL R (R L)
TH4 | R2¥ Bk GX) 63 - AFEl Pt TF HEX Sy VRISV R i
(2) LTHEXy LR - B - 5
THX 5y - AR - 85 - A0 Biks HLAZ ¥ (mifa)) e (4m) sl e
LR - B -
= 1
+T
= 1
VE¥ 4T O T)
= 1
PRAE Y
m3 97
A =7y b
m3 336
S e
m2 95
E¥E+ T ERET)
= 1
HREL
m3 33
LA TE
L=4. OkmEA PN
m3 210
s M d'eas
L=15. 5kmLA N
m3 234
T
= 1

=N

i




1

7N

R (AN TS

il
U

=)

THE4 | R2¥+T Afmfeims Gtx) 25 - Al Pt T HEN Sy VRISV R i
(2) THXSy BB - Bt -
THX 5y - AR - 85 - A0 Bikk HLAZ e (4m) sl e
BBy -+ T
= 1
2y )Y =} 18-8-40 (= %)
m3 511
T BT e
m2 372
jat P e 5
fm2 231
=Y AR E S
Hm2 213
For vy 3emPl T
m2 95
FLES A t=20cm
m2 98
2 D16 SD345 1.=700
%N 558
HIlFL
L 558
1EZKAR CF-200X 5
m 23
A7 N = ¢ 19X 600
%N 49

=N

i



il

THRERER (KT EH)

THE4 | R2¥+T Afmfeims Gtx) 25 - Al Pt T HEN Sy VRISV R i
(2) THXSy BB - Bt -
THX 5y - AR - 85 - A0 Bikk HLAZ ek (gilED) e (4m) sl S
H Hiupt £=10mm
m2 46
CofiZE1E IR t=20cm
m2 23
Cofid& t=20cm
m2 840
BT
= 1
B 2.5=W<4.0m
m2 111
N 2. 5=W<4.0m
m2 225
Coffidi t=20cm
m2 143
PG L
= 1
AT IR
m 3
3L
i 1
47K
i 1

=N

i



il

THRERER (KT EH)

THE4 | R2¥+T Afmfeims Gtx) 25 - Al Pt T HEX Sy VRISV R i
(2) THXSy BB - Bt -
THX 5y - AR - 85 - A0 Biks HLAZ ¥ (mifa)) e (4m) sl e
G L
= 1
BUEL T
= 1
/)Y - EE L
m3 42
WET
= 1
BERR MK B =
m 6
HET
= 1
T
= 1
HET
= 1
[EREME: -
= 1
IR
= 1
HomfErE (FEL)
= 1

=N

i



il

THRERER (KT EH)

THE4 | R2¥+T Afmfeims Gtx) 25 - Al Pt T HEX Sy VRISV R i
(2) THXSy BB - Bt -
THX 5y - AR - 85 - A0 Biks HLAZ ¥ (mifa)) e (4m) sl e
S ¢
= 1
Bl E
= 1
LU
= 1
— A B
= 1
TS
= 1
THEBIRE K O 5 1 e B
= 1
TH2E
= 1

=N

i



